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Power Factor (pf) =

POWER

kW (Real Power)

kVA (Total Power)

kW (Real Power)

FACTOR
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kVAr (Rective Power)
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iZi=\2+ (10 -- 6)
= V20 = 4.47 ()

N 10 — 6 o )
= arctan 5 = arctan 5 = 63.43
120V | P =VI=120V » 26.85 A= 3222 kVA
I = 3370 J6.85 A

P =VIsinf= 120V x 26 83 A x sin63.43"
PF = cos 8 = cos 63.43°= 0.45 = 3 88 kvar

P, = Vlcos 6= 120Y X 26 85 A X cos 61.43°

= |.44 kW
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Table 7-1 Y =) Jedo
Load kKVA  PF
L A 15 0.9 fagginy
’ L...uu.c
B 5 0.9 leadiny
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A B C
13.5kW 4.5 kW 16 kW 2.18 kvar (B) at Leading PF
: > 6.54 kvar (A) Lagging
TS P, Total | 1Y
S~. (A-B+011 1
\\ '
37.85kVA S 11t |
/v"\\ > 12 kvar (C) Lagging

Total kVA \d
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7-1.1 Measurement of Power

Load




¥ —0 Jts

amage lis | edy 1 Vo ymeidy el Bgyhe (V= 1Y) JS2 Gelhe 5510
D gdbe i Hlic | cly S0 9 e T A/ iy yesly g e e Ty
sl plys - (W)
ole oo - ()

PCAPRIC (z)



7-1.1.1 Wattmeter Overloads. yoaily yoLedloly )y )y
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